SOCIOLOGY

Name & Signature of the Invigilator PAPER-IIT  ICR Answer Sheet No. :
OCT-14/09
............................................... Roll No. :
............................................... Roll Number in Words ;.o
Time : 2.30 Hours| No. of Printed Pages : 32 |Maximum Marks : 150

Instructions for the Candidates

1y Write vour Roll Number in the space provided on the top of this page.

2 This paper consists of Seventy five (75) multiple choice type questions. All guestions are compulsory.

3. At the commencement of examination. the quéstion booklet will be given 10 candidate. In the first § minutes, candidate is requested
to open the buoklet and compulsorily examine it as below :

(i1 To have access 1o the question booklet. tear off the paper seal on the edge of this cover page. Do not accepl a hooklet without
sticker-seal and do not accept an open booklet.

(i} Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty
booklets due W pagesiquestions missing or duplicate or not in serial order or any other discrepancy should be got replaced
immediately by a correet booklet from (he invigilator within the period of five minutes. Afterwards. neither the question
booklet will be replaced nor any extra time will be given.

(iif)  After this verification is over. the test booklet number should be entered in the JCR answer sheet and the JCR Answer Sheet
number should be entered on this test booklet.

4. Fach ilem has upto four alternative responsces marked (A, (B). (C) and (D). The answer should be a capital letter for the selected
option. The answer letter should entirely be contained within the corresponding square,

Correct method A Wrong method ] COR A

3. Your responses to the items for this paper are 1o be indicated on the ICR Answer Sheel under Paper ill::nﬁ-.

6. Read instructions given inside carefully.

7. Rough work is to be done in the end of the booklet only.

8. You have to return the original ICR Answer Sheet to the invigilators at the end ol the examination compulsorily and must not carry

it with vou outside the examination hall. You are. however, allowed to carry duplicate copy of 1CR sheet and tesl booklet on

conclusion of the examination.
9. Use black ball point pen.
10, Use of any Calculators or log tables or any other clectronic devices is prohibited.
11.  There shall be no negative marking. i .
[2. In case of any discrepancy in Gujarati and English version of questions the English version should be taken as final.

yleuell20 W2 ya-iil :

I, w1 WAL 2z eallaiell oronml el Fedo el
2, L s Mo L gl RU S 21 21 e YRR () wel sl . oL sl 2Bl 8.
3 WAL 3oL GREA2 S e YR 51 DU Al HaH Y B2 e, Gl neyfdst Widl #1a s3Brudua {12

yogo U B 539

() MeeluEstedl auzial sedl HE vt sa Wyl AR YR e et S1EL il sdue ARl ala wlsa qoi-l b vedl wyfas

aell stz ol -l

G AR e U e FEag e yRdstt il yél A v sz ez 2l al, vy sy Bl b Fl UL AL 2L
I, 6L % 9UILL i, MMl DAL SO B 8 Gl sl SUSEL 5178 vl s wseyRa st adlsi ol 4l vt o vl sa
ety Getst ol e ol R las widiell g2 o ollew w1zl ey et st el @l w42 GRsal A Ui (il AHUIUL LYAMHL

st Uglell, uaey Bt st oteeatil 2uadl Al % SIS asi il L e BNA 21940 4l
Gy w sl mind Al 222 Wledst Aol ICR Fes Yol 5] @vidl L ICR Fellol Mats 613 Ueaylisl 4z qvia,

4. Ukt Woet HUE 1l G BSEU (A), (B). (C) il (D) MUMAHL S &
3t widies yllza wim 2 i1le viirinl Ayl T S o d Td avet,

=l Fld A wildl 7l : j SN A

5. it W5e [ 51etl eIl oellon eI Bl BUAL ICR Al M s3] Lz —3 avia Beuomi o avdl.

6. g2 BUUA YAl yds aial,

7. 2l Uyl sl v wulie wid 38 sz Y.

8. w1 2y YR s o Wil HlKled ICR Feet Ut s Fd [ DetsA 521t 00 2 2 sisSus el lauvisHl s %0 25

], ulen usl e g Giaz ustyfiast datICR el shase sl vl as os ui .
9, it siofl et stofl olier Ut qruzel,
10, hesydzy vt s SasAls ol Guae sl YAl .
1. vzl orates HiE A8iEa ol s =l
12, useiulisinl 515 WeeiHl vl 25510 (B4t HAGHE R ol 2319 dgbt Hiou 218l

Qaigalledl auot M »idies 3l2e YO gl Y ML UAE



Sociology—ITI




SOCIOLOGY
PAPER - III

MUY ALRA
qu-IIT

Note :This paper contains Seventy Five ('75) multiple-choice/Assertion and

Reasoning/matching questions/carrying TWO (2) marks. Attempt All the

questions.

6 wl weusHl UAlar (ew) oiglsedld usel, WH-E 2 WSsl vlelddl Wl
B ML WAL el dvial 9. s weddr () @ 9.

1. Social Planning is a : AHrs U D

(A) Conscious and a deliberate
effort to bring about change

(B) Unconscious and accidental
effort to bring about change

(C) Sporadic effort to bring about
changes in the economy alone

(D) Ideological effort to bring about
change

In 2011 census, the sex ratio at All
India Level is :

(A) 933
(B) 940
(C) 927
(D) 948

“Rurbanism” is a term that 1s
related to the study of :

(A) Villages
(B) Town and cities
(C) Rural areas

(D) Rural-urban lifestyle
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The ploneering contribution based
on village studies primarily focused

on :
(A) - Rural problems
(B) Rural social institutions
(C) Social structure
(D) Socio-cultural practices |

The deviants involved in the
“White-Collar Crimes” are largely

from :
(A) Poor and unemployed people

(B) Professionals and high-status

classes
(C) Offenders and criminals
(D) Dons and mafias

“Societies must curb development in
order to prevent eventual
environmental collapse” is the main

argument of the theories of :
(A) Logic of growth

(B) Sustainable development
(C) Limits to growth

(D) Trickle-down effects
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Which theoretic perspective is based
on the views that liberty has to be
fought for 7

(A) Marxian

(B) Structural
(C) Subaltern
(D) Neo-Marxian

Which is the correct rank order of
minority groups in India in terms

of their population ?

(A) Christians, Muslims, Jains
(B) Parsis, Christians, Jews
(C) Jains, Muslims, Jews

(D) Muslims, Sikhs, Christians

Who has said that Indian society is
based on the notion of purity and

pollution ?

(A) Louis Dumont
(B) David Hardiman
(C) N.K. Bose

(D) G.S. Ghurye
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10. Who studied “Feeding the Baniya”

in Gujarat ?

(A) S.C. Dube

(B) David Hardiman
(C) B.R. Ambedkar
(1) A.R. Desai

11. Match List I with List IT and select
the correct answer from the codes

given below :

List I List II
(@) G.S. Ghurye (1) Diversities

(b} N.K. Bose (2) Scheduled Tribes

~ (e} Swurajit Sinha (3) Tribal Life in

India

(d}  D.P. Mukerji {4) Field Studies on
the People of
India

‘odes -

@ & © @
A @ @ @ @
B @ @ @ @
© @ @ @ @
™ O @ @ @
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12.

13.

Indicate the correct option.
Demographic transition theory
claims the key to population control

lies in :

(A) Religion

(B) Technology

(C) Education

(D) Customs

Who has argued that population
growth would outpace food

production and the result would be

social calamity ?

(A) Adam Smith

(B) Karl Marx

(C) T.R. Malthus

(D) Vilfredo Pareto
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14.

Match Column I with Column II
and select the correct answer from
the codes given below :
Column I Column II
{e) Neo-functiona- (1) A. Schutz
lism
(6) The Phcno.meno— (2) Harold Garfinkel
logy of Social
World
() Presentation of (3) J. Alexander
Self in Everyday
Life

()  Ethnomethodo- (4). E. Goffman

logy
Codes :
@ @) (©© (@
A @O @ 3 @
B @ @O @ @
e @ @ o 3
™ @ 3 @ @

Who has written the book, “The
Social Construction of Reality” ?

(A) Harold Garfinkel
(B) E. Goffman
(C) Berger and Luckmann

(D) A. Schutz
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16.

1.

18.

Which of the following has doctrine
of intentionality as a central

feature ?

(_A‘) Ethnomethodology
(B) Positivism

(C) Neo-functionalism
(D) Phenomenology

Who has used concept of Practical

Consciousness ?
(A) Alfred Schutz
(B) H. Garfinkel
(C) J. Habermas
(D) A. Giddens
Who stated that

has neo-

functionalism devotes roughly equal

attention to ‘action’ and ‘order’ ?
(A) E. Goffman
(B) J. Alexander
(C) H. Garfinkel

(D) M. Foucault
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18,

20.

21,

Ideology plays a role in cultural and  19.

social reproduction of capitalism.
Whose views are reflected in this

statement ?
(A) Goffman

(B) J. Alexander
(C) Derrida
(D) Althusser

In Habermas’
colonization of life world, which

phenomenon colonizes it ?
(A) System

(B) Language

(C) Power

(D) Structure

According to Habermas, the sphere  21.

which mediates between private
sphere (like civil society) and that
of public autherity (like state) is :

(A) Public sphere
(B) Common sphere
(C) Middle space

(D) Coffee House
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22.

23.

24.

‘An ideology is a structure imposed

involuntarily on the majority of

men.’ For Althusser, this is :

(A) False consciousness

(B) True consciousness

(C) Contradiction

(D) Unconscious

How many languages are officially
recognized as mentioned in Eighth

Schedule of the Constitution ?

(A) 14

(B) 18

(C) 20

(D) 22

Which of the following is included
in the list of primitive tribes in

Gujarat ?

(A) Bhil

(B) Chaudhary
(C) Kathodi

(D) Kukna
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25. According to N.K. Bose, the 25. .5, ol Hd worol adly

development of Indian Civilization _ - "B
Aeydld [asid og uReud & d
is the result of : '

¢
() the repeated experiences of

war leading to the spirit of (D AR caxlL oLl Yl

nationalism Q,tj!o{q"[gi g-ﬂlc{c{*{

(II) a pattern of cultural pluralism

_ (D gericis dd wid wRRax
under relatively peaceful

condition ARglAs ogeudidl dus

(III) the communities in India do (IID elldMi aqeldl du-l 4o

not constitute their distinct ,
| - AL RHAL Y1ddl )
entities '

(IV) diversity of culture but (Iv) Q‘Ll%fg_l}lfi dlasy odl oay

encouraging the economic Aqeldiil Walus Feldl 28

o ization for interd d i | ]
rgamzation for interdependence s Aot WiHRd 59

of all communities.

: [F=t U8l A Guz suldl @
Select the correct answer from the 18

codes given below : | | (A) s5d II

(A) II onl
7 (B) II, IIT A IV

(B) II, III and IV

- (C) I, III
(C) I, III

(D) II and IV D) II v IV
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26.

217.

28.

According to
knowledge and language have
been powerful in the control of

human body ?
(A) Foucault
(B) Schutz
(C) Goffman

(D) Giddens

Foucault states that knowledge o7

gives birth to technologies that
exert power. One example of this
is :

(A) Panop.ticon

(B) Prison

(C) Hospital

(D) School

Who constructed the theory of

deconstruction ?

(A) Foucault

(B) Derrida
(C) Giddens

(D) Althusser

Sociology—I11 13
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29.

- 30.

31.

Which one of the foilowing tribes
has been studied by S.C. Dube ?
(A) Chaudhary

(B) Gond

(C) Bhil
(D) Kamér

Which one of the following is a tribe
of Andaman Islands ?

(A) Bhil

(B) Chaudhary
(C). Onge

(D) Kukna

Depeasantization in rural India is

a result of :

(A) rural-urban migration

29.

30.

'31.

(B) . growth of capitalistic mode of

farming

(C) displacement due to
construction of irrigation

projects

(D) Land acquisition by the state

Sociology—I11
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32.

33.

73rd constitutional amendment
relating to the Panchayati Raj has
led to :

(A) Consolidation of power in the

hands of traditional leaders

(B)

Empowerment of lower castes

(C) Rise of leadership among the

rural women

(D) Development of roads and

other infrastructure

Match the items in List I with
items in List II and select the

correct answer from the codes given

below :

List I List II

(Concepts) (Sociologists)

(a)  Organic Solidarity (1.} Herbert Spencer
(6) Religious Ethics (2) Emile Durkheim
(¢) ModeofProduction (3) Karl Marx
(d) Social Evolution (4) Max Weber
Codes :

@ B © @
A 1 @ @ @
® @ @O @ G
«© @ & @ @
o @ @ @6 @
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34. The book, “India’s Changing

35.

36.

Villages” is based on the evaluation

of the performance of :

(A) Rural credit

(B) Panchayati Raj Institutions
(C) Rural Co-operative Societies

(D) Rural Community Development

Programmes

The impact of Industrialization
in India is most conspicuously

reflected in :
(A) Widow remarriage
(B) Crime

(C) The increasing rate of growth

in urban population
(D) Inter-caste marriage
Ralf

Conflict according to

Dahrendorf is based on :

(A) Relations of Production -
(B) Relations of Consumption
(C) Kinship relation

(D) Relations of authority

Sociology-IT1

- 34.

- 35.

36.

“olrsun Aol [Rd@YU’ Yads
AL Usl il s Yeuisw
Bu »auRd & ?

(A) aHla €l

(B) dauddl 2w Al

© wle wesil Hsullui

D wHels Rsi sidfs

]

HidHl GSld vl ys

= =

leiPisadl 2242 ¥ &85 8 q -
A) Rgal Yel:qo

(B) YLl

(C) AR axdldl qadi wdl €2
D) id-stfad doq

AUCS SeSISAL Hd Yuol Al

VLU ¥ AGUHL €l O d 8 -
(A) Beule--l
(B) GBuc{oL-L

(C) AudYBIAL

(D) Al




37.

38.

39.

Which of the following concepts
Marx did not use in his study of

‘Capital’ ?

(A) Surplus value
(B) Use value

(C) Exchange value
(D) Social value

Which of the following states is not
termed as BIMARU ?

(A) Bihar
(BY Maharashtra
(C) Rajasthan

(D) Uttar Pradesh

Which of the following is the |

most important demographic

variable influencing population

distribution ?
(A) Fertility
(B) Mortality
(C) Migration

(D) Population density
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40.

42.

41.

+ (C)

The theory
transition is based on the historical

experience of societies such as :

(A) Primitive Society, Modern and
Asiatic
(B) Feudal Society, Asiatic and

Modern

(C) Modern Society, Asiatic and

Primitive

4].

(D) Primitive, Feudal and Modern

Which of the following movements
had women protecting trees from

being cut ?
(A) SEWA

(B) Koodan Kulam

Navnirman
(D)
Early marriage is associated with :
(A) High fertility.
(B) High fecundity
(C) Low fecundity

(D) Low fertility
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43. Given below are two statements, one

of which is an assertion ‘@’ and-

another reason ‘b’ :
Assertion ‘a’ :

Increase in level of education of
women, results in declining fertility

amongst women.
Reason ‘b’ :

As levels of formal education
increase, women feel more
empowered to take decisions

regarding their fertility.
Codes

(A) Both ‘@’ and b’ are true, and
‘b’ is the correct explanation
of ‘a’

(B) Both ‘@’ and ‘b’ are true, but

the correct

‘6’ 1s not

explanation of ‘@’

(C) ‘@ is true, but b’ 1s false

(D) ‘a’ is false, but b’ is true
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43. <12 2tal o [Quitl ©, o U8l s

qiRBll ‘@’ 9 A ol D ds © ¢

YIRBIL ‘a’ :

wlsalaidl el aedld 414

SIRICTERTE u‘ffvﬁ He 6.

s b

M o Hledinl 2ivazs Qe

Af . MUl U {3l

Wldil Fely 2 ag qaldse

™A €9,

515 :

(A) ‘@’ 2 D’ ol AL QO A D 2
‘@ o AwY wllesivl B

(B) ‘@ il P’ ol A1l Ul D A
‘@ o A wleser Al

(C) ‘@ A O U D g O

D) ‘@ Mg 9 ULl b AU W

[P.T.O.]




44.

45.

The perspective which believes that
gender inequality emerges from
socialization that makes people have
distorted views of male and female

is called :

(A) Liberal feminism

(B) Radical feminism
(C) Socialist feminism
(D) Traditional feminism

Which was the Commission that
suggested amendments to the law

to protect women from sexual

- harassment ?

(A) Sachar Committee

(B) Justice Verma Commission

(C) Bhore Committee

(D) Kaka Kalelkar Commission
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44, ) Ry % ¥l AL 2 © 5,

45.

AHLlBrsad dla [asudl d-(ls
AL AlsiHE Y™ 2t 0l 2491
vi1dl eytﬁ Gel an 8. d O ¢

(A) Gelr lae

B) Geln -wlale

(C) uxwdlel -ulale

(D) uulad uRldale

nRaia wau—Aadeldl saal

2l SIELME &R 54l M2

sMan 5§ ed ?
(A) uRR A
(B) %eéla‘cm[ s[a-
(©) ol uR

(D) 151 s1das sHaUA




46. Given below are two statements, one 46, «{|2 »ldl 6 [Quil 8, d M@ 24

47.

of which is an assertion ‘@’ and

another is.reason ‘b’ :
Assertion ‘a’ :

In a plural society, minority groups
often develop mistrust of the
majbrilty.

Reason b’ :

Minority groups are frequent targets

of prejudice and discrimination.
Codes :

(A) Both ‘@’ and b’ are true, and
‘b’ is the correct explanation
of ‘a’

(B) Both ‘@’ and ‘6’ are true, but
‘b’ the

explanation of ‘@’

is not correct

(©)
(D)

‘@’ is true, but ‘b’ is false
‘a’ 1s false, but ‘b’ is true

The committee headed by Arjun
Sengupta in a report in 2009 said
that more than 3/4 of India earned
per day less than :

(A) Rs. 35
(B) Rs. 40
(C) Rs. 50
(D) Rs. 20
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47.

-

YRR ‘@’ © i oflf df B Y
QLB ‘a’

s 2sUAS AHAHL, viewAvYs ol
U2l I3 ot A s dls AN A[Qraiy
qRlddl sl 9.

NERL A

e AV 5L MR AR Y] Al A,
Aeciladl Mo o 6.

51S

(A) ‘@ 2 D ol WAL D A D ¥
‘@ < AR WNlsYL B

‘@ A D ol AL B ULl B A
‘@ v AR NS Yl

(B)

-

(C) ‘@ A © U b uig &

D) ‘@ Wig & uaL P Wy B

2009 Hi 2% ALl 2L
Al A oeue ¥ alladul
el eyl yel ay eisi wlalkd

gelledl UL wiigg sHIY O d ©

" (A) 3L 35

(B) 3L. 40
(C) 3L. 50

(D) 3l. 20
[P.T.0.]




48.

49.

50.

Who said people are

criminals ?

(A) Sutherland
(B) P. Topinard
(C) C. Lombroso

(D) C. Bedkarnia

A lawyer cheats his client. This

crime is called :

(A) Blue collar crime
(B) Corruption

(C) White collar crime
(D) Cyber crime -

Who were the authors of the book

“Towards a Sociology for India” ?
(1) Yogendra Singh
(2) Indra Deva
(3)
(4)

Codes :

Yogesh Atal -
T.K. Unnithan
(A) 1, 2 and 3
(B) 2, 3 and 4
(C) 1, 3 and 4

(D) 1, 2 and 4
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48. SIS 56 % QEIOURL A €ld © 7

49.

50.

(A) ULA~S

B) Jl. al-is
(© ol. Qxilail

M) Al. asslul

-

25 asld d-dl 2(lad 9d 9. i
Al 9 sy © 7

(A) o0&y sldR -l
(B) a&™lAULR
(C) 2dd Wl 24l
(D) AR Y-l

“2 as ¥l Alwldiw sz Shsul’’
YacisHl Auisl 59 sieL © 7

Y 1oLrg HloL
Svaed
Yolel vied

2.5, G~{lai

(1)
(2)
3)
4)
51S
(A) 1, 2 21 3
B) 2,3 2 4
(C) 1, 3 1 4

M) 1, 2 A 4

e




51.

52.

53.

The goal of the new science and

technology policy, 2013 envisages :

(A) Creation of a viable system for

high technology-led path

(B) Acceleration of industrial

growth in towns
(C)
(D)

High agro-technology growth

Promotion of tertiary sector

economic activities

The advocates of globalization claim
that the backwardness of the

developing societies is due to :

(A) Poor level of science and

technology at grassroot level
(B) Illiteracy and unemployment
(&)

(D)

Lack of open market economy

beliefs

customary practices

Religious and
The

India since independence has led
to :

process of industrialization in

(A) of and

economic inequalities

lessening social

(B)
(C)

emergence of new middle class

politicization of working class

on caste line

(D) increase in labour force
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"51. 2013 l Adl WA v sl

52.

53.

il »is ded ssm widl gz

-

9 5

Gy 2sleil uall3d wel w2
s WY Adl Ge{l s3dl

(A)

(B) s2euimi »{leiBls qlan »sl

e L]

(C) G2 -l 5l 2s-idion-l gl

(D) Al &l »ulls Badl gla

dPas el USldivl vidl eldl 53 &
5 [Asiaalle AHUAAL w9l uBLL, 5181

-

8 .

(A) 40 2 [Astid @A 4iBsld
01y dR

(B) [M2&dl A 6513

(C) Y5 AA%AL HIA

D) 4lls M-AdPl 24 4T upld

Lldetidl

UBLEL Usdlrl e dMl 2AlenBis el
wEad i ¥ sagdl ad ¢ d -

AU S 2 L[ %

VIHHIAALBUML Y2LS]

(A)

(B) «d—Heyqaaldl Gey

stfadl »al sls oo
U glsre

(C)

M) ulMs adlyi GHR
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54. The call for indigenization of 54, UMWl AULFLLSAAL 2l

sociology received momentum syl addl alaella el ? |
|
since : ' |
(A) 1960 |
(A) 1960 |
(B) 1990
(B) 1990 |
(C) 1980
(C) 1980
(D) 1970
(D) 1970

. . 55. HelcHl oligll cldly deolwl
55. Mahatma Gandhi’s view of ¢

secularism in Indian context Was': [rrinei@sdl 2190 % [QAIR1L edl d

¢g
(A) Spirit of rational attitude to _
life | (A) @A ud dilEs adai-l ¢ud
(B) Promotion of humanistic B) 21yls wBrAn-L Hldgalel
values of modern west yedir, Adee
(C) Spirit of religious tolerance (©) abls AlRddlAlL Hia
(D) Protection of tribal religion D) sukarl el e

56. Which one of the following e i welal. [y ﬂ&‘lr_ﬁ sy Rseu

represent the spirit of secularism in . -
Braaivel@sdidl cuaqr sald o 7

true sense ?

| - (A) ulBls sl AudL @il
(A) a concern for equality of
religious rights g

(B) provision for revitalization of (B) m%“%’-[a‘s’ AR Yriasdlsel

cultural identities wie{l caral
(C) a universalistic world-view © s adBis dlBas glRlig
(D) absence of religious consideration M) Alls [FRoid-dl e
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8.

59.

Six-fold classification of tradition in
India by S.C. Dube was criticized

by Y. Singh saying that it was :

(A)

Relying more on culture than

on social structure
(B) Non-realistic and philosophical
(C)

Simplistic and superficial

(D) Not in line with ongoing

process of modernization

In the study of social change in
modern India, Louis Dumont’s

approach focused on :

(A) Cognitive historical elements
(B) Sfructural-functional analysis
(C) New material conditions

(D) Socio-econumic deprivation

Who is the author of the book
‘Argonauts of the Western Pacific’ ?
(A) J.G. Frazer

(B) Evans Pritchard
(C) Radcliffe-Brown

(D) B. Malinowski
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58.

59.

2l g2l olrddl U3 % o

R4l il 5469 dn dldimalot

% uudld st 53 d ed

(A) AHUxS sdi Aiglas v
Bud ay adoi-

(B) didlas > elellHis

(C) AN i GURe9eq

@) 2gFslszadl gl el

wizaidl aglzui <l

EYMAS eRdHl AFs ulad--l
MY AN GeS SYMIAL 2A[MAMAL il

BUR s edl d

(A) olales—Aet@s dell

(B) AUl s—ustulcHs [Qsame
(C) «a—ciifas uRRull

D) AHUs—21UEs dRddl

“uolHien wis ¢ dred URBs

Yls S8 @vy ?
(A) %.2. 512
(B) Sy B
(C) Isl3as oG+

M) ofl. wila-izsl
[P.T_.O.] :




60.

61.

62.

Certified reformatory schools are

meant for the reformation of :
(A) Women offenders

(B) dJuvenile delinquents

(C) Convicts

(D) Alcoholics

The recognized violation of cultural

norms is defined as :
(A) Crime

(B) Anti-social act
(C) Deviance

(D) Immorality

In Cohen’s formulation, a culture
characterized by non-utilitarian,
malicious and negative values is

conceptualized as :

(A) Delinquent sub-culture

(B) Dominant slum culture

(C) Culture of blue collar criminals

(D) Culture of drug addicts
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62.

adls19s 512 2sd ¥+l yarzau
w2 eld 9 d

(A) uledl dddul

(B) oud 2R

(C) A% WHAL AR
(D) el3slut

aizslas aizeld uaeiol vl

9

(A) 3l
B) dAxy Q] 4

) [Qag+

D) AR

-

L&rtril diotetul ¥ A5 [BrriGuadll,
g2 Sdalull 2 SIS Yeulsl
agel 421d 8 d-dl vagirel §
(A) IAdUR Bu—2islad

B) azaatl Fuerugldl Al
(C) og—siaz dn2uRi-dl 2gld

(D) el vetaldl Al gl



63.

64.

In order to locate sources of social
change, Yogendra Singh was deeply

influenced by the views of :

(A) Radecliffe Brown and

B. Malinowski

(B) Robert Redfield and Milton

Singer

(C) Talcott Parsons and Robert

Merton

(D) William Goode and Talcott

Parsons

Nepotism, favouritism and misuse

of power are examples of :
(A) Social degradation
(B) Ignorance

(C) Conflict

(D) Corruption
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(D)

AU S R Ad AL 2lid A58l s2aM)
qLrsdlol Sivt @Al GlEl >R
gdl 7

(A) s[3ds oG 24 ofl . Ml

(B) 2o 3sBds A (ea Aoz
(C) 2ldsie WA 2 2018 43
(D) [adluy o5 2 21esie URAA

Aol EIUUIOL, UEULAL 2 A3UALE
oA Geleell (elvmdlnll) & :

(A) AqUHUs ysdl

(B) &gl
SN

()

HPelYL2
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65.

66.

In the process of the efforts of

planned rural development, the

introduction of the Panchayati Raj

basically aims at :

(A) invoking peoples participation
m rural development programmes

(B) eradication _of traditional power

structure

(C) replacing the rural community

development' programme

(D) encouraging co-operative

movement in rural India

Which one of the following

statements is true ?
The conflict paradigm sees :

(A) acceptance of cultural values

but rejection of institutional

means generates conflict

(B) that the society is an arena of
inequality that generate

conflict and change

(C) lack of harmony among the
parts of an on-going social

structure creates conflict

(D) that sudden change generates

social conflict
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dlolg AHlel (sl LHiHl

qudl Y elHd 9 Ul Yo

Suel 9 :
A) el sl sidsHinl dls
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67. The policy of structural adjustment  67. ‘‘Huoisla—aAigsa’’ <l @ 2l

is a result of : ulzeum o 7
(A) modernization (A) »ugslsal
(B) privatization (B) vollsrw

(C) globalization ) ARadlszel

D) industrialization ; W
(D) industrializ (D) leiPbis20l

68. Who said that every civilization, o N
68. SI2L 58 & €35 AL, B2 e M-

high or low, possesses some ‘ s &
[alarve duiadl 414 ¢ 7

distinctive qualities ?
(A) 2.5, ol
(A) N.K. Bose

B) 0. yuwd
(B) D.P. Mukherjee

(C) sSl.ue. HygHelR
(C) D.N. Majumdar

| (D) .24, yd
(D) G.S. Ghurye

69. “‘CIMISIOUISA’ T YadsHl AvLs 5181
69. Who is the author of the book “Homo 2 4

Hierarchicus” ? B 7

(A) L. Dumont (A) . SYMl
(B) Adrian Mayer (B) Gy Wz
(C) F.G. Bailey (C) »5.2. 64
(D) D. Pocock D) sl. uisis
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70.

s

72.

A process of social change which 1s

planned and desired by a society :
(A) Modernization

(B) Development

(C) Movement

(D) Westernization

N.K. Bose’s methodological
approach is the study of Indian

civilization and culture was :

(A) Historical and deductive

(B) Comparative and inductive

(C) Historical and inductive

(D) Comparative and historical

According to Surjit Sinha which one
of the following tribes are placed in
Hinduized groups ?

(A) Hill Maria

(B) Kallar
(C) Ghasia

(D) Hill Kharia
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70.

71.

2.

A% glL AU e 2if5d s34l
AHLlPrs wRadadl uba ¢ ¢

(A) uglAsa

B) [as

(©) 29949

(D) Bl

ML dld AL 2 Ag[AAL AN

A3, ool 2A[MAH 8l ¢
(A) Hlasis v slsséla
(B) dd-ilcis e §-9s5éld
© HAReBs w §rssdld
D) da-icis 2 Al

A®d Rivslrl Hd Yoot R Ul
55 sulzarll wl (R a&é‘t oL
wid W

A) [Ba wulruw

(B) sedlR

(C) aulaul

D) [2a vl




74.

75.

Who gave the idea of core and

periphery in the context of

globalization ?
(A) Wallerstein
(B) A.G. Frank
(C) Samir Amin
(D) A. Giddens

Which one of the following

scheduled tribes has assumed the

position almost equivalent to caste ?
(A) The Bhils

(B) The Garos

(C) The Gonds

(b) The Baigas

Who said that “Ghurye insisted ﬁeld-
work though he himself was an

armchair scholar” ?

(A) T.K. Oomen and B.S. Baviskar
(B) Panini and K.L. Sharma

(C) M.N. Srinivas and Panini

(D) K.C. Panchanadikar and A.M.
Shah

73. ARalseql dee{di ‘51377 w4

74.

75.
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CURsR7 AL QAR g8 vl ?
(A) ddzelde

(B) ¥.9. 3i5

(C) Al ¥l

(D) 2. Biswy

[fae Agll 5§ 4y @l
aaroL sitladl uusa Radl sing s30
9 7

A) old

(B) Uzl

(C) oli~s

(D) 6ol

s 58 3 gl dst sl GuR euR
s o 5 dedl wid 2 d26sl RBids
gl ?

(A) 2l.5. G¥in v ofl 21, oudlusz
B) weldl »d 3.24. sam[

() dH. AL sl v wsll-l

M) 5.4l da1dlsz i 21614, Al
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ROUGH WORK
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